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Exercise set (4.3):

Exercise 4.3. P.221-222:
1-2(a-b)-4(b)-5-6(b)-7-15-20-21-27-29-33




EXERCISE SET 4.3 I Graphing utility  [€] cas

1—12 Ewvaluate the integrals using the indicated substitutions.

1. () / 2x(xZ + 1D dx; u — x2 + 1

(b) /cos3xsinxdx; U — COS X
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2. (a) / \}J_Csin\/g_cdx; u — Jx
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4. (b) /(2x+7)(x2+7x+3)4/5dx; u=x2+7x+3
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5. (a) /cotxcsczxdx; u = cotx
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7. (a) /xzx/l +xdx; u=1-+x

(b) / [csc (sin x)]2 cosxdx; u = sinx
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11—36 Evaluate the integrals using appropriate substitutions.

: 15. / sec 4x tan 4x dx
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29. /cos 40+/2 — sin40 do
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